
Объяснение: 
75 – 49 = 75 – (40 + 9) = 75 – 40 – 9 = 

Учебник с.18, № 3

52 – 37 = 52 – (30 + 7) = 52 – 30 – 7 = 

81 – 56 = 81 – (50 + 6) = 81 – 50 – 6 = 

73 – 25 = 73 – (20 + 5) = 73 – 20 – 5 = 

Решение примеров вида 
75 - 49



Теперь ТЫ 
справишься! 
Постарайся!!!



Задача № 4, с. 18

М.- 28 уч.

Р.яз. – 36 уч.

П. - ?, на 17 м.

1) …………………….(уч.) – м.+ рус.

2) ….. – 17 = …. (уч.)

Ответ:



№ 8, с. 18

64 – с = 18+14

64 – с = 32

А дальше решай по памятке!

а – 17 = 92 – 44

а – 17 = 

А дальше решай по памятке!



Умница! 

У тебя всё 
получилось! 



Для тех ребят, кто хочет 
узнать больше!!!

   Задания из Р/т,        
урок 75

Трудолюбивый ученик 
получит дополнительную 

отметку!



Р/т с. 19





1) 55 – 30 = 25 (л.) - столько лет

пройдет

2) 30 – 25 = 5 (л.) - сыну сейчас






